292 INFINITIVE CLAUSES

b) With verbs of indirect statement
1/ Change the second given element into an infinitive clause so that it combines with the first one:

< Example: 6 8iddoxorog vouilet ... / 6 pobning 10010 €noincev > 0 diddokarog vopilel TOv pabntiv Tovto totijcal.
e 01 moATltoL vopuilovotv... / 6 dpyov ToAeuelv BovAeTOL.

2/ Change the infinitive from present to aorist or vice-versa and observe the change in meaning:

* 0lopat T0VTOVE TOVES TOAS0IC GOPOVE ETVOL / cevvervnerrnerreinneinainnnns .

o 3P0 VOULLELS LE TODTO EUMETV / covvivniineiineiiieiieeini, ;

o £VOULLOV 8E OVSEULOV ELVAL / vvvvvvieneiieiieiieeinean, compiav (Xenophon, Hellenica).

o Y0 UEV YOP O1UOL TEGOG TAS TOAELS S10, TODTO TOVG VOUOUS TLIOEGOOL / . evvvvneiveineiineiinannne,

(Lysias, De Caede Eratosthenis).

3/ Let’s do the process backwards: for each one of the previous sentences take the indirect statement (the
infinitive clause) and put it into direct form:
< Example:  vouilw tov Zwkpdtn Bifrov ypdderv / ypdwyor.
Infinitive clause: 1ov Zokpdtn BiPAov ypdoely / ypdyarl
Direct statement: 0 Zokpding Biprov ypdoet / Eypoev.
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